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(3) [5 points] Observers in towns located at A and B measure the angle of elevation to the peak

of. a 12,000 foot mountain to be 28" and 46o, respectively. Find the distance between the towns

assuming the towns and the mountain peak lie in the same vertical plane.

Name:
Stuf :

t

t an (Z  t ' )  =

x t =

| 2 , o r  )
a - 1

l L  o o o

to^ (ze)

to.-r,, (qU") --

x L =

l Z t u w
x L

(  L o o o  .

T'a^( u c")

a
a o aU sT a.-.,ce- W,rt<'e-t'- -fut^'^s

! r  t x r - = I LUDO-

t^.^f-r)
L  f g 1  f l s +  + t  '  \

i s

l L  o o o

t^^( t  6)

p . 2 o f  2


